Problem B:
Princess’ Marriage

HIERDIZFEAY

Fl:ﬁ%ﬁ%;sf; : E‘T’EEI
ER: AL, T H
[ RESCAE B : /\ 5%

fRERAERL: ALH

iz

0p




Al %8

» BIRSRAD B T TR T HIRIC, RREC EICEF

THRIFIZEDODNSERDOHFENEZoND

BEfIgpg =Y
BEbHhhdEHD
HI1FE

St D
B 4o B

» CDFEFERE RFIZEDHLNS
JLT 50

Pl

HOHFEXF—2



miEE (Cont’d)

» BREETICDOER1ZH-THERHZEL . BEHFRZST-
TELICENTED(ZEDRMEIEEHNGELLED)

HAFFE

H S b o
B {3 R B

» TEH 8 DIEFE. RFIZEHNS
f—%JLTS5 [ZETTHS

A

e 990000880
I N T B B

55 th
HOHAFET

» BlFHETICRIFICEODNARIMDEAFFHEZ ROH &K




g%

) ﬁ']%-k;%b?h%)

o D EAFFIED S LY

EFrEELTLK
- BIFEDEVRREICEICEFZENTLIRZT 41T

o COEIHTILIYXLIEELE (greedy algorithm) &R

E¥ %

» REEINEESN =D TZIFT—2ILDENLNS[E
HFHEZER Y FRS

X Rl Mo IEIS

5

),



7073 LDERDERAUE

y BB N ALIFMOEAFEIZ O D 10 TTOH1 1R
c FNEFNDOEEICDONT, BARZTEDEHDESINEN
R EHET S
» PEOSEITEAFENRKEWNTIONGIEEERT 5
o IBZHIZBIZE T nIFOK
c BEFEEITFOEBLTIL—TLTHLETIEEIZES
c M (<= 109 BDOL—FIEFEVENRBEETE T3
- ERFTE VAT LTIEFTTENLEITRFEZNTTHREIREGL




& L1
FER

» FPENBEICHDGEITERE
y HOWVELVSRZELEWLEDIC
c ANDRTEHZFHLE->TERTITHYY
- TNV HAELE
c EIETF7FAILZTHHEARD
o 7 O—NILEESIDHEAIEZFTZNTI DEIDAIDT—E2H
AEICREENS
o IRERE




AR E K

» 2 Submit £2: 139
» Accept #: 79
) BX ﬁAccept 137250%

(andaasukoaazu)

» COLANILDEIEMNEEICRITHEERNFIEZERL
BlhEIZiEYET

» RELHATRO TS




